

A FIXED POINT THEOREM FOR SELF MAPPING IN BANACH SPACE

H. Khosravi*, M. Kahrobaeian, E. Faryad and P. Jafari

*Department of Mathematics, Faculty of Science, Mashhad Branch,
Islamic Azad University Mashhad, P. Box 91735-413, Iran*

(Received on: 21-01-13; Revised & Accepted on: 09-04-13)

ABSTRACT

Let X be a Compact subspace of a Banach space and let f be a self mapping of X . We introduce condition for self mapping f such that f has a unique fixed point in X . In the other words, we established fixed point theorem with help of self mapping which satisfying contractive type of condition.

Mathematics Subject Classification: 47H10, 54H25.

Keyword: Fixed Point Theorem, Banach Space, Self Mapping, Contraction Mapping.

1. INTRODUCTION

In recent years, nonlinear analysis have attracted much attention. The study of non contraction mapping concerning the existence of fixed points draw attention of various authors in non linear analysis. Fixed point theorem is very important in the solution of differential equations. The most famous of fixed point theorem is Brouwer's fixed point theorem. Also, a large variety of the problems of analysis and applied mathematics reduce to finding solutions of non-linear functional equations which can be formulated in terms of finding the fixed points of a non-linear mapping. (see [1,6,7,8])

Definition1.1: Let X be a metric space equipped with a distance d . A map $f: X \rightarrow X$ is said to be Lipschitz continuous if there is $\lambda \geq 0$ such that $d(f(x_1), f(x_2)) \leq \lambda d(x_1, x_2)$, $\forall x_1, x_2 \in X$.

The smallest λ for which the above inequality holds is the Lipschitz constant of f . If $\lambda \leq 1$ f is said to be non-expansive, if $\lambda < 1$ f is said to be a contraction. (See [3, 5]).

Notice: First we are giving some fundamental results:

Theorem [Banach] 1.2: Let f be a contraction on a Banach space X , then f has a unique fixed point. In the other words, let (X, d) be a complete metric space and $f: X \rightarrow X$ a contraction, i. e., $\sup \frac{d(f(x), f(y))}{d(x, y)} < 1$, then f has a unique fixed point. ([2,11])

Theorem1.3: Kannan in [9] proved that "If f is self mapping of a complete metric space X into itself satisfying:

$d(f(x), f(y)) \leq \alpha [d(f(x), x) + d(f(y), y)]$, for all $x, y \in X$ and $\alpha \in [0, \frac{1}{2}]$, then f has a unique fixed point in X ".

Theorem1.4: Fisher in [4] proved the result with $d(f(x), f(y)) \leq \alpha [d(f(x), x) + d(f(y), y)] + \beta d(x, y)$ for all $x, y \in X$ and $\alpha, \beta \in [0, \frac{1}{2}]$, then f has a unique fixed point in X .

Theorem1.5: A similar conclusion was also obtained by Chaterjee [10]:

$d(f(x), f(y)) \leq \alpha [d(f(x), y) + d(f(y), x)]$, for all $x, y \in X$ and $\alpha \in [0, \frac{1}{2}]$, then f has a unique fixed point in X .

2. A FIXED POINT THEOREM FOR SELF MAPPING IN COMPLETE METRIC SPACE

Theorem2.1: Let X be a complete metric space and let f be a self mapping of X into itself which satisfies the following condition:

Corresponding author: H. Khosravi

*Department of Mathematics, Faculty of Science, Mashhad Branch,
Islamic Azad University, Mashhad, P. Box 91735-413, Iran, E-mail: Khosravi@mshdiau.ac.ir*

$d(f(x), f(y)) \leq \alpha [d(f(x), x) + d(f(y), y) - d(x, y)]$ for all $x, y \in X$ and $\alpha \in [\frac{1}{4}, \frac{1}{2}]$, then f has a unique fixed point in X , where g is self mapping in X such that $g(x) = f(2x) - x$.

Proof: $d(g(x) - g(y)) = \|g(x) - g(y)\|$

$$\begin{aligned} &= d(f(2x) - x, f(2y) - y) \\ &= \|f(2x) - f(2y) - x + y\| \\ &\leq \|f(2x) - f(2y)\| + \|x - y\| \\ &\leq \alpha [\|f(2x) - 2x\| + \|f(2y) - 2y\| - d(2x, 2y)] + \|x - y\| \\ &= \alpha [\|f(2x) - 2x\| + \|f(2y) - 2y\| + (1 - 2\alpha)\|x - y\|] \quad (\text{Let } 1 - 2\alpha = \beta \rightarrow 0 \leq \beta \leq \frac{1}{2}) \\ &= \alpha [\|g(x) - x\| + \|g(y) - y\| + \beta\|x - y\|] \\ &\rightarrow \|g(x) - g(y)\| \leq \alpha [\|g(x) - x\| + \|g(y) - y\| + \beta\|x - y\|]. \end{aligned}$$

With using by theorem 1.4, g has a unique fixed point c in X . This means $g(c) = c$. Therefore, $f(2c) - c = c$. Hence, $f(2c) = 2c$.

Let $k = 2c$, then $f(k) = k$. Therefore, f has a unique fixed point in X . The proof of theorem in this case is complete.

Theorem 2.2: Let X be a complete metric space and let f be a self mapping of X into itself which satisfies the following condition:

$d(f(x), f(y)) \leq \alpha [d(f(x), x) + d(f(y), y) - \frac{3}{2}d(x, y)]$ for all $x, y \in X$ and $\alpha \in [\frac{1}{6}, \frac{1}{3}]$, then f has a unique fixed point in X , where g is self mapping in X such that $g(x) = f(2x) - x$.

Proof: $d(g(x) - g(y)) = \|g(x) - g(y)\|$

$$\begin{aligned} &= d(f(2x) - x, f(2y) - y) \\ &= \|f(2x) - f(2y) - x + y\| \\ &\leq \|f(2x) - f(2y)\| + \|x - y\| \\ &\leq \alpha [\|f(2x) - 2x\| + \|f(2y) - 2y\| - \frac{3}{2}d(2x, 2y)] + \|x - y\| \\ &= \alpha [\|f(2x) - 2x\| + \|f(2y) - 2y\| + (1 - 3\alpha)\|x - y\|] \quad (\text{Let } 1 - 3\alpha = \beta \rightarrow 0 \leq \beta \leq \frac{1}{2}) \\ &= \alpha [\|g(x) - x\| + \|g(y) - y\| + \beta\|x - y\|] \\ &\rightarrow \|g(x) - g(y)\| \leq \alpha [\|g(x) - x\| + \|g(y) - y\| + \beta\|x - y\|]. \end{aligned}$$

With using by theorem 1.4, g has a unique fixed point c in X . This means $g(c) = c$. Therefore, $f(2c) - c = c$. Hence, $f(2c) = 2c$.

Let $k = 2c$, then $f(k) = k$. Therefore, f has a unique fixed point in X . The proof of theorem in this case is complete.

Theorem 2.3: Let X be a complete metric space and let f be a self mapping of X into itself which satisfies the following condition:

$d(f(x), f(y)) \leq \alpha [d(f(x), x) + d(f(y), y) - 2d(x, y)]$ for all $x, y \in X$ and $\alpha \in [\frac{1}{8}, \frac{1}{4}]$, then f has a unique fixed point in X , where g is self mapping in X such that $g(x) = f(2x) - x$.

Proof: $d(g(x) - g(y)) = \|g(x) - g(y)\|$

$$\begin{aligned} &= d(f(2x) - x, f(2y) - y) \\ &= \|f(2x) - f(2y) - x + y\| \end{aligned}$$

$$\begin{aligned}
 &\leq \|f(2x) - f(2y)\| + \|x - y\| \\
 &\leq \alpha [\|f(2x) - 2x\| + \|f(2y) - 2y\| - 2d(2x, 2y)] + \|x - y\| \\
 &= \alpha [\|f(2x) - 2x\| + \|f(2y) - 2y\| + (1-4\alpha)\|x - y\|] \quad (\text{Let } 1-2\alpha = \beta \rightarrow 0 \leq \beta \leq \frac{1}{2}) \\
 &= \alpha [\|g(x) - x\| + \|g(y) - y\| + \beta\|x - y\|] \\
 &\rightarrow \|g(x) - g(y)\| \leq \alpha [\|g(x) - x\| + \|g(y) - y\| + \beta\|x - y\|].
 \end{aligned}$$

With using by theorem 1.4, g has a unique fixed point c in X . This means $g(c) = c$. Therefore, $f(2c) - c = c$. Hence, $f(2c) = 2c$.

Let $k = 2c$, then $f(k) = k$. Therefore, f has a unique fixed point in X . The proof of theorem in this case is complete.

Theorem 2.4: Let X be a complete metric space and let f be a self mapping of X into itself which satisfies the following condition:

$d(f(x), f(y)) \leq \alpha [d(f(x), x) + d(f(y), y) - \frac{k}{2} d(x, y)]$ for all $x, y \in X$ and $\alpha \in [\frac{1}{2k}, \frac{1}{k}]$ such that $k \in \{3, 4, 5, 6, \dots\}$, then f has a unique fixed point in X , where g is self mapping in X such that $g(x) = f(2x) - x$.

Proof: $d(g(x), g(y)) = \|g(x) - g(y)\|$

$$\begin{aligned}
 &= d(f(2x) - x, f(2y) - y) \\
 &= \|f(2x) - f(2y) - x + y\| \\
 &\leq \|f(2x) - f(2y)\| + \|x - y\| \\
 &\leq \alpha [\|f(2x) - 2x\| + \|f(2y) - 2y\| - \frac{k}{2} d(2x, 2y)] + \|x - y\| \\
 &= \alpha [\|f(2x) - 2x\| + \|f(2y) - 2y\| + (1-k\alpha)\|x - y\|] \quad (\text{Let } 1-k\alpha = \beta \rightarrow 0 \leq \beta \leq \frac{1}{2}) \\
 &= \alpha [\|g(x) - x\| + \|g(y) - y\| + \beta\|x - y\|] \\
 &\rightarrow \|g(x) - g(y)\| \leq \alpha [\|g(x) - x\| + \|g(y) - y\| + \beta\|x - y\|].
 \end{aligned}$$

With using by theorem 1.4, g has a unique fixed point c in X . This means $g(c) = c$. Therefore, $f(2c) - c = c$. Hence, $f(2c) = 2c$.

Let $k = 2c$, then $f(k) = k$. Therefore, f has a unique fixed point in X . The proof of theorem in this case is complete.

3. ACKNOWLEDGEMENTS

The authors thank the research council of Mashhad Branch (Islamic Azad University) for support. Also, we would like to thank the referee for his/her many helpful suggestions.

REFERENCES

- [1] A. Azam, B. Fisher and M. Khan, Common Fixed Point Theorems in Complex Valued Metric Spaces, (2011), Numerical Functional Analysis and Optimization, vol. 32, no.3, 243 - 253.
- [2] N. Bajaj, A fixed point theorem in Banach space, (2001), Vikram Math Journal, vol. 21, 7 - 10.
- [3] D. P. Shukla, S. K. Tiwari and M. Awasthy, Fixed Point Theorem for Self Mapping in Banach Space, (2012), Int. J. Contemp. Math. Sciences, vol. 7, no. 26, 1287 - 1293.
- [4] Fisher, A fixed point theorem for compact metric space, (1976), Publ.Inst.Math.25, 193 - 194.
- [5] D. R. Smart, Fixed Point Theorems, (1973), Cambridge Univ. Press.
- [6] C. Semple, M. Steel, Phylogenetics, (2003), Oxford Lecture Ser. in Math Appl, vol. 24.

- [7] D. Wardowski, Endpoints and fixed points of set-valued contractions in cone metric spaces, (2009), Nonlinear Analysis, vol. 71, 512 - 516.
- [8] W. A. Kirk, Some recent results in metric fixed point theory, (2007), J Fixed Point Theory Appl, vol. 2, 195 - 207.
- [9] R. Kannan, Some results on fixed point theorems, (1969), Bull. Calcutta. Math. Soc, Vol. 60, 71-78.
- [10] S.K. Chatterjee, Fixed point theorems compactes, (1972), Rend. Acad. Bulgare Sci, vol. 25, 727 – 730.
- [11] D. Werner, Funktionalanalysis, Springer, Berlin, 2007.

Source of support: Research Council of Mashhad Branch, Islamic Azad University, Iran,
Conflict of interest: None Declared